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SECONDARY SCHOOL EXAMINATION – 2024  (ANNUAL) 

Model Set 

Home Science 

(Only for Blind Cadidates) 

 

Time : 3 Hrs. 15 Minutes      Full Marks : 100 

Total No. of questions – 100 + 30 + 8 = 138 

Instructions for the candidates :- 

1- ijh{kkFkhZ OMR mŸkj i=d ij viuk iz’u iqfLrdk Øekad ¼10 vadksa dk½ 

vo’; fy[ksaA 

Candidates must enter his/her Question Booklet serial No. (10 

digits) in the OMR Answer sheet. 

2- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mŸkj nsaA 

Candidates are required to give their answers in their own words 

as far as practicable. 

3- nkfguh vksj gkf’k;s ij fn, gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

4- iz'uksa dks /;kuiwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr le; 

fn;k x;k gSA 

15 Minutes of extra time has been allotted for the candidates to 

read the questions carefully. 

5- ;g iz’u i= nks [k.Mksa esa gS] [k.M&v ,oa [k.M&cA 

This question booklet is divided into two sections – Section-A and 

Section-B 

Sub. Code – 126 
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6- [k.M&v esa 100 oLrqfu"B iz’u gSaA ftuesa ls fdUgha 50 iz’uksa dk mÙkj nsuk 

vfuok;Z gSaA 50 ls vf/kd iz’uksa dk mÙkj nsus ij izFke 50 mÙkjksa dk gh 

ewY;kadu dEI;wVj }kjk fd;k tk,xkA izR;sd mÙkj ds fy, 1 vad fu/kkZfjr gSA 

lgh mÙkj dks miyC/k djk;s x;s OMR mÙkj i=d esa fn;s x;s lgh fodYi 

dks dkys@uhys ckWy isu ls izxk<+ djsaA fdlh Hkh izdkj ds OgkbVuj@rjy 

inkFkZ@CysM@uk[kwu vkfn dk OMR mÙkj&iqfLrdk esa iz;ksx djuk euk gS] 

vU;Fkk ijh{kk ifj.kke vekU; gksxkA 

In Section-A, there are 100 objective type questions, out of which 

any 50 questions are to be answered. First 50 answers will be 

evaluated by the computer in case more than 50 questions are 

answered. Each question carries 1 mark. For answering these 

darken the circle with blue/black ball pen against the correct 

option on OMR answer sheet provided to you. Do not use 

Whitener/ Liquid/Blade/Nail etc. on OMR Sheet; otherwise the 

result will be invalid.  

7- [k.M&c esa dqy 30 y?kq mÙkjh; iz’u gSa] ftuesa ls fdUgha 15 iz’uksa dk mÙkj 

nsuk vfuok;Z gSA izR;sd iz’u ds fy, 2 vad fu/kkZfjr gSaA blds vfrfjDr] bl 

[k.M esa 08 nh?kZ mÙkjh; iz’u fn, gSa] ftuesa ls fdUgha 4 iz’uksa dk mÙkj nsuk 

gSA izR;sd iz’u ds fy, 5 vad fu/kkZfjr gSA 

In section-B, there are 30 short answer type questions, out of 

which any 15 questions are to be answered. Each question 

carries 2 marks. Apart from these, there are 8 Long Answer Type 

questions, out of which any 4 questions are to be answered. Each 

question carries  5 marks. 

8- fdlh izdkj ds bysDVªkWfud&midj.k dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic appliance is strictly prohibited. 
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Section-A (Objective Type Questions)

iz'u la[;k 1 ls 100 rd ds izR;sd iz’u ds lkFk pkj fodYi fn, x, gSa] ftuesa 

ls ,d lgh gSA fdUgha 50 iz’uksa ds mÙkj vius }kjk pqus x, lgh fodYi dks OMR&’khV 

ij fpfàr djsaA         (50x1=50)

Question No. 1 to 100 have four options, out of which only one is 

correct. Answer any 50 questions you have to marked your selected option 

on the OMR-Sheet.        

 (50x1=50) 

1- cPPkksa esa fjdsV~l dh chekjh fdldh deh ls gksrk gS \ 

 (A) foVkfeu&,    (B) foVkfeu&ch 

 (D) foVkfeu&lh    (D) foVkfeu&Mh 

Rickets disease in children is caused by deficiency of  

(A) Vitamin-A    (B) Vitamin-B 

(C) Vitamin-C    (D) Vitamin-D 

2- dkSu lk Hkkstu chekfj;ksa ls cpkrk gS \ 

 (A) phuh      (B) ?kh 

 (D) vkyw     (D) gjh iÙksnkj lfCt;k¡ 

Which food protects from disease ? 

(A) Sugar     (B) Ghee 

(C) Potato     (D) Green Leafy vegatable 

3- f’k’kq dk dkSu lk laosx tUe ls gh fn[kkbZ nsrk gS \ 

 (A) I;kj     (B) Hk; 
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 (D) Øks/k     (D) ukilan 

Which emotion of the baby is visible from birth ? 

(A) Love     (B) Fear 

(C) Anger     (D) Dislike 

4- okf’kax e’khu cpkrh gS & 

 (A) Je     (B) le; 

 (D) /ku     (D) buesa ls lHkh 

Washing machine saves - 

(A) Labour     (B) Time 

(C) Money     (D) All of these 

5- buesa ls dkSu 'kjhj ds fy, bZa/ku dk dk;Z djrk gS \ 

 (A) dkcksZgkbMªsV    (B) izksVhu 

 (C) foVkfeu     (D) ty 

 Which of the following acts as fuel for the body ? 

 (A) Carbohydrate    (B) Protein 

 (C) Vitamin     (D) Water 

6- buesa ls dkSu v’kq) gok dks 'kq) djrk gS \ 

 (A) ân;     (B) òDd 

 (D) Iyhgk     (D) QsQM+s 

 Which of these purifies polluted air ? 

 (A) Heart     (B) Kidney 
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 (C) Spleen     (D) Lungs 

7- buesa dkSu ikpu iz.kkyh dk Hkkx ugha gS \ 

 (A) vek’k;     (B) vXuk’k; 

 (D) xzkluyh     (D) Iyhgk 

 Which of these is not a part of the digestive system ? 

 (A) Stomach    (B) Pancreas 

 (C) Esophagus    (D) spleen 

8- fVVsul dk eq[; y{k.k gS & 

 (A) cq[kkj     (B) ljnnZ 

 (D) tcM+ksa dk tdM+u   (D) isV esa nnZ 

 ……….. is the symptom of Tetanus  

 (A) Fever     (B) Headache 

 (C) Jaw stifness    (D) Stomach ache 

9- ekuo ikpu ra= dk lcls yack Hkkx dkSu lk gS \ 

 (A) thHk     (B) nk¡r 

 (D) vek’k;     (D) NksVh vkar 

 What is the longest part of the human digestive system? 

 (A) Tongue     (B) Teeth 

 (C) Stomach    (D) Small Intestine 

10- buesa ls dkSu lk uk’koku [kk| inkFkZ ugha gS 

 (A) Qy     (B) nw/k 
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 (D) lCth     (D) dspi 

 Which of these is not a non-perishable food items 

 (A) Fruits     (B) Milk 

 (C) Vegetables    (D) Grains 

11- ty fdl voLFkk esa miyC/k gS \ 

 (A) Bksl     (B) rjy 

 (D) xSl     (D) buesa ls lHkh 

 Water is available in which state ? 

 (A) Solid     (B) Liquid 

 (C) Gas     (D) All the above 

12- lqjf{kr Hkfo"; ds fy, buesa ls D;k vko’;d gS 

 (A) O;;     (B) vk; 

 (D) ctV     (D) cpr  

 Which of these is essential for a secure future ? 

 (A) Expenses/Expenditure  (B) Income 

 (C) Budget     (D) Savings 

13- xg̀ okfVdk esa feV~Vh dks [kksnus ds fy, D;k iz;qDr gksrk gS \ 

 (A) QkoM+k     (B) gtkjk 

 (D) MDyj     (D) :V QhMj 

 What is used to dig soil in the home garden ? 

 (A) Spade     (B) Hazara 
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 (C) Duckler     (D) Root feader 

14- ty dk izkdf̀rd lzksr gS & 

 (A) dqvk¡     (B) >juk 

 (D) rkykc     (D) iks[kj 

 …….. is a natural source of water. 

 (A) Well     (B) Waterfall 

 (C) Pond     (D) Puddle 

15- olk ikbZ tkrh gS & 

 (A) pkoy esa      (B) dsys esa 

 (D) lso esa     (D) eD[ku esa 

 Fat is found in - 

 (A) Rice     (B) Banana 

 (C) Apple     (D) Butter 

16- ued esa dkSu lk [kfut ugha ik;k tkrk gS\ 

 (A) lksfM;e     (B) ykSg rRo 

 (D) vk;ksfMu     (D) iksVkf’k;e 

 Which mineral is not found in salt ? 

 (A) Sodium     (B) Iron 

 (C) Iodine     (D) Potassium 

17- buesa ls dkSu jDrokfgdkvksa dk ,d izdkj gS \ 

 (A) /kefu;ka     (B) f’kjk,¡ 
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 (D) dsf’kdk,a     (D) buesa ls lHkh 

 Which of these is a type of blood vessels ? 

 (A) Arteries     (B) Veins 

 (C) Capillaries     (D) All of these 

18- fuEu esa ls dkSu ikS/ks dk [kkus ;ksX; Hkkx gS \ 

 (A) cht     (B) iÙks 

 (D) Qwy     (D) buesa ls lHkh 

 Which of the following is an edible part of a plant ? 

 (A) Seeds     (B) Leaves 

 (C) Flower     (D) All of these 

19- f’k’kq dk d`f=e vkgkj gS & 

 (A) xk; dk nw/k    (B) cksry dk nw/k 

 (D) ek¡ dk nw/k    (D) (A) vkSj (B) nksuksa 

……….. is an artificial food for the baby. 

 (A) Cow’s milk    (B) Canned milk 

 (C) Mother’s milk   (D) Both (A) and (B) 

20- N% ekl ds cPps dks lksuk pkfg, & 

 (A) 10 ?kaVs     (B) 12 ?kaVs 

 (D) 18 ?kaVs     (D) 22 ?kaVs 

 A six month old baby should sleep for ……… 

 (A) 10 hours    (B) 12 hours 
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 (C) 18 hour    (D) 22 hours 

21- fuEu esa ls dkSu is; inkFkZ gS \  

 (A) tSe     (B) 'kcZr 

 (D) ekeZysM     (D) tsyh 

 Which of the following is a beverage ? 

 (A) Jam     (B) Syrup 

 (C) Marmalade    (D) Jelly 

22- futZyhdj.k dh voLFkk dgykrh gSS & 

 (A) ty dh deh    (B) ty dh vf/kdrk 

 (D) ty dk larqyu    (D) buesa ls dksbZ ugha 

 The state of dehydration is called - 

 (A) Shortage of water   (B) Excess of water 

 (C) Water balance   (D) None of these  

23- [ksy cPpksa ds fdl fodkl esa lgk;d gksrk gS \ 

 (A) 'kkjhfjd     (B) ekufld 

 (D) lkekftd     (D) buesa ls lHkh 

 Play helps in which development of Children ? 

 (A) Physical    (B) Mental 

 (C) Social     (D) All the above 

24- [kkuk ijkslus gsrq fuEukafdr esa ls dkSu dke vkrk gS \ 

 (A) dyNqy     (B) eFkuh 
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 (D) >kjh     (D) buesa ls dksbZ ugha 

 Which of the following is used for surving food ? 

 (A) Ladle     (B) Mathani 

 (C) Jhari     (D) None of these 

25- fuEu esa ls dkSu vklkuh ls ipus okyk Hkkstu gS \ 

 (A) ryk gqvk     (B) mckyk gqvk 

 (D) Hkwuk gqvk     (D) buesa ls dksbZ ugha 

 Which of the following is an easily digestible food ? 

 (A) Fried     (B) Boiled 

 (C) Roasted    (D) None of these 

26- oL= gekjs 'kjhj dh lqj{kk djrh gS & 

 (A) xehZ ls     (B) lnhZ ls 

 (D) /kwy ls     (D) buesa ls lHkh 

 Clothes protect our body from - 

 (A) Heat     (B) Cold 

 (C) Dust     (D) All of these 

27- iznwf"kr ok;q dks 'kq) djus dk lcls izeq[k lk/ku gS & 

 (A) isM+&ikS/ks     (B) laokru 

 (D) o"kkZ     (D) buesa ls lHkh 

 Most important means of purifying polluted air is - 

 (A) Trees and plants   (B) Ventilation 
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 (C) Rain     (D) All of these 

28- 'kjhj esa ikuh dh deh ls izHkkfor ugha gksrk gS & 

 (A) Hkw[k     (B) ykj dk cuuk 

 (D) futZyhdj.k dh fLFkfr   (D) Ropk 

 ……… is not affected by lack of water in the body. 

 (A) Hunger    (B) Production of Saliva 

 (C) Dehydration status  (D) Skin 

29- foVkfeu&, ?kqyu’khy gS & 

 (A) ty esa     (B) olk esa 

 (D) nksuksa esa     (D) buesa essa ls dksbZ ugha 

 Vitamin-A is soluble in ………. 

 (A) Water     (B) Fat 

 (C) Both (A) and (B)   (D) None of these 

30- jDr dk 'kqf)dj.k dgk¡ gksrk gS \ 

 (A) QsQM+k     (B) fdMuh 

 (D) isV     (D) (A) vkSj (B) nksuksa 

 Where does the purification of blood takes place ? 

 (A) Lungs     (B) Kidney 

 (C) Stomach    (D) Both (A) and (B) 

31- buesa ls dkSu òDd dk iz/kku dk;Z gS \ 

 (A) ikpu     (B) mRltZu 
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 (D) iztuu     (D) buesa dksbZ ugha 

 Which of the following is the main function of kidney ? 

 (A) Digestion    (B) Emission 

 (C) Reproduction   (D) None of these 

32- fdl laLFkku esa Hkkstu dk ikpu gksrk gS \ 

 (A) ek¡lis’kh laLFkku    (B) jDr lapkyu laLFkku 

 (D) 'olu laLFkku    (D) ikpu laLFkku 

 In which system digestion of food takes place ? 

 (A) Muscular system   (B) Circulatory system 

 (C) Respiratory system  (D) Digestive system 

33- ekuo 'kjhj dk lcls cM+k vkarfjd vax dkSu lk gS \ 

 (A) QsQM+s     (B) mnj 

 (D) ;d`r     (D) o`Dd 

 Which is the largest internal organ in the human body ? 

 (A) Lungs     (B) Stomach 

 (C) Liver     (D) Kidney 

34- mPN~olu }kjk fudyus okyh xSl gS & 

 (A) vkWDlhtu    (B) gkbMªkstu 

 (D) ukbVªkstu     (D) dkcZu MkbZvkWDlkbM 

 Which gas comes out during expiration ? 

 (A) Oxygen     (B) Hydrogen 
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 (C) Nitrogen    (D) Carbon dioxide 

35- jDr dks o`Dd ls fudkyuk fdldk dke gS \ 

 (A) f’kjk dk     (B) uyh dk 

 (D) /keuh dk     (D) dksf’kdkvksa dk 

 Whose job is to get the blood out of the Kidney ? 

 (A) Vein     (B) Tube 

 (C) Artery     (D) Cells 

36- can ?kj esa ydM+h vkSj ykyVsu tykus ls fdl xSl dh òf) gksrh gS \ 

 (A) vkWDlhtu    (B) ukbVªkstu 

 (D) dkcZu MkbvkWDlkbM   (D) lYQj MkbvkWDlkbM 

Which gas is increased by burning wood and Lantern in a closed 

house? 

 (A) Oxygen     (B) Nitrogen 

 (C) Carbon dioxide   (D) Sulpher dioxide 

37- ok;q esa dkSu lh xSl lokZf/kd ik;h tkrh gS\ 

 (A) vkWDlhtu    (B) ukbVªkstu 

 (D) dkcZu MkbvkWDlkbM    (D) gkbMªkstu 

 Which gas is found maximum in air ? 

 (A) Oxygen     (B) Nitrogen 

 (C) Carbon dioxide   (D) Hydrogen 

38- O;kikj djus okyksa dh vk; gksrh gS & 
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 (A) fuf’pr     (B) vfu;fer 

 (D) vfuf’pr     (D) (B) vkSj (C) nksuksa 

 The income of businessmen is … 

 (A) Fixed     (B) Irregular 

 (C) Uncertain    (D) Both (B) and  (C) 

39- ctV cukrs le; fuEu vk; okys O;fDr vf/kd O;; djrs gSa & 

 (A) Hkkstu ij     (B) cPpksa dh i<+kbZ ij 

 (D) vkokl ij    (D) foykflrk laca/kh oLrqvksa ij 

Low income group people tend to spend more on ………. While 

making budget. 

 (A) Food     (B) Study of children 

 (C) House     (D) Luxury items 

40- v.Mksa esa dkSu lk iks"kd rRo ugha gksrk gS \ 

 (A) ykSg rÙo     (B) foVkfeu&lh 

 (D) izksVhu     (D) foVkfeu&, 

 Which nutrient is not found in eggs ? 

 (A) Iron     (B) Vitamin-C 

 (C) Protein     (D) Vitamin-A 

41- ikfjokfjd ctV fdl vk/kkj ij cuk;k tkrk gS \ 

 (A) nSfud     (B) lkIrkfgd 

 (D) ekfld     (D) buesa ls lHkh 
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 On what basis is the family budget made ? 

 (A) Daily     (B) Weekly 

 (C) Monthly    (D) None of these 

42- dkWysLVªe fdl izdkj dk izfrj{kk djrk gS \ 

 (A) lfØ; izfrj{kk    (B) fuf"Ø; izfrj{kk 

 (D) (A) vkSj (B) nksuksa   (D) buesa ls dksbZ ugha 

 What type of immunity does colostrum provide ? 

 (A) Active Immunity   (B) Passive Immunity 

 (C) Both (A) and (B)   (D) None of these 

43- jklk;u ,oa mPp rki ls fdls u"V fd;k tkrk gS \ 

 (A) cSDVsfj;k     (B) QQw¡nh 

 (D) dhVk.kq     (D) miq;ZDr lHkh 

 Which of these is destroyed by chemical and high temperature ? 

 (A) Bacteria    (B) Mildew 

 (C) Germs     (D) All of the above 

44- buesa ls dkSu fo"kk.kq tfur jksx ugha gS \ 

 (A) [kljk     (B) {k; jksx 

 (D) iksfy;ks     (D) jscht 

 Which of the following is not a viral disease ? 

 (A) Measles    (B) Tuberculosis 

 (C) Polio     (D) Rabies 
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45- fuEufyf[kr esa ls dkSu iznwf"kr ikuh ihus ls QSyrk gS \ 

 (A) VkbZQkbM     (B) eysfj;k 

 (D) Qkbysfj;k    (D) dkyktkj 

Which of the following spreads through drinking of contaminated 

water? 

 (A) Typhoid    (B) Malaria 

 (C) Filaria     (D) Kala azar 

46- fdl jksx ds dkj.k jDr esa IysVysV~l dh la[;k de gks tkrh gS \ 

 (A) Msaxw     (B) eysfj;k 

 (D) VkbQkbM     (D) {k; jksx 

Which disease causes the number of platelets in the blood to 

decrease ? 

 (A) Dengue     (B) Malaria 

 (C) Typhoid    (D) Tuber culosis 

47- fuEufyf[kr esa ls dkSu&lk crZu czklks ls lkQ fd;k tkrk gSS \ 

 (A) ihry     (B) rk¡ck 

 (D) vY;qehfu;e    (D) LVhy 

 Which of the following utensils is cleared with Brasso ? 

 (A) Brass     (B) Copper 

 (C) Aluminium    (D) Steel 

48- fuEu esa ls dkSu vPNs LokLF; dh dq¡th gS \ 
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 (A) [kkus dh mfpr vknrsa   (B) i;kZIr vkjke 

 (D) fu;fer O;k;ke    (D) buesa ls lHkh 

 Which of the following is a key to good health ? 

 (A) Proper eating habits  (B) Adequate rest 

 (C) Regular exercise   (D) All of the above 

49- fuEu esa ls dkSu lkewfgd [ksy gS \ 

(A) [kks [kks     (B) QqVckWy 

 (D) dcM~Mh     (D) bues lss lHkh 

Which of the following is a group sport  ? 

(A) Kho Kho    (B) Football 

(C) Kabaddi    (D) All of these 

50- fuEu esa ls dkSu Je ,oa le; cpr midj.k jlksbZ?kj esa mi;ksx ugha fd;k tkrk 

gS\ 

 (A) feDlj xzkabMj    (B) cÙkZu /kksus dh e’khu 

 (D) jsfÝtjsVj    (D) diM+s /kkus dh e’khu 

Which of the following labour and time saving devices is not used in 

the Kitchen ? 

 (A) Mixer Grinder    (B) Dishwashing machine 

 (C) Refrigerator    (D) Washing Machine 

51- fuEu esa ls dkSu izfrfnu 24 ?kaVs ekuo dh vko’;drk gS \ 

 (A) gok     (B) lw;Z dh izdk’k 
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 (D) ty     (D) Hkkstu 

 Which of the following is required by human 24 hours every day ? 

 (A) Air     (B) Sunlight 

 (C) Water     (D) Food 

52- lks;kfcu esa lcls vf/kd D;k ik;k tkrk gS \ 

 (A) dkcksZgkbMªsV    (B) izksVhu 

 (D) olk     (D) foVkfeu 

 Which of the following is found maximum in soyabean ? 

 (A) Carbohydrate    (B) Protein 

 (C) Fat     (D) Vitamin 

53- xqnsZ dk vkdkj dSlk gksrk gS \ 

 (A) vaMkdkj     (B) lse ds cht ds vkdkj dk 

 (D) uk’kikrh ds vkdkj dk   (D) lso ds vkdkj dk 

 What is the shape of Kidney ? 

 (A) Oval     (B) Bean seed 

 (C) Pear shaped    (D) Apple shaped 

54- fdl ikpu vax esa vEy gksrk gS \ 

 (A) vek’k;     (B) NksVh vk¡r 

 (D) cM+h vk¡r     (D) buesa ls dksbZ ugha 

 Which digestive organ contains acid ? 

 (A) Stomach     (B) Small intestine 
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 (C) Large intestine   (D) None of these 

55- fuEu esa ls dkSu nk¡r dk dk;Z ugha gS \ 

 (A) dkVuk     (B) p[kuk 

 (D) ihluk     (D) QkM+uk 

 Which of the following is not the function of teeth ? 

 (A) Biting     (B) Testing 

 (C) Grinding    (D) Tearing 

56- ?kj esa ijns dk mís’; D;k gS \ 

 (A) ,dkarrk     (B) lqj{kk 

 (D) lqUnjrk     (D) buesa ls lHkh 

 What is the purpose of curtains in the house? 

 (A) Privacy     (B) Security 

 (C) Beauty     (D) All of these 

57- ch- lh- th- dk Vhdk fdl jksx dh jksdFkke ds fy, yxk;k tkrk gS \ 

 (A) xylqvk     (B) risfnd 

 (D) iksfy;ks     (D) ihfy;k 

 For prevention of which disease BCG vaccine is given ? 

 (A) Mumps     (B) Tuberculosis 

 (C) Polio     (D) Jaundice 

58- lHkh O;fDr;ksa esa jksx izfrjks/kd {kerk gksrh gS & 

 (A) leku     (B) fHkUu&fHkUu 
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 (D) vko’;drkuqlkj    (D) buesa ls dksbZ ugha 

All individual have ………… immunity to diseases. 

(A) Equal     (B) Different  

(C) Required    (D) None of these 

59- yksgs ds cÙkZu dks /kksus ds mijkar lw[ks diM+s ls iksNdj ;k lq[kkdj D;ksa j[kk tkrk 

gS \ 

 (A) ped cjdjkj j[kus gsrq  (B) tax yxus ls cpkus gsrq 

 (D) (A) vkSj (B) nksuksa   (D) nksuksa esa ls dksbZ ugha 

 Why an iron utensil is dried with cloth after washing ? 

 (A) To maintain its shine  (B) To prevent from rusting 

 (C) Both (A) and (B)   (D) None of these 

60- buesa ls dkSu lk bZa/ku iznw"k.k jfgr gksrk gS \ 

 (A) lkSj pwYgk    (B) ck;ks xSl pwYgk 

 (D) ,y- ih- th- pwYgk   (D) buesa ls lHkh 

 Which fuel is pollution free ? 

 (A) Solar Cooker    (B) Bio Gas Stove 

 (C) L.P.G. Stove    (D) All of these 

61- fuEu esa ls dkSu lh ltkoV 'k;ud{k dks vkd"kZd cukrs gSa \ 

 (A) rkth iq"Ik O;oLFkk   (B) insZ ,oa dkyhu 

 (D) mfpr izdk’k O;oLFkk   (D) buesa ls lHkh 

 Which of the following decorations make the bedroom attractive. 
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 (A) Fresh flower arrangement (B) Curtain and carpet 

 (C) Proper lighting arrangement (D) All the above                   

62- fuEu esa dkSu tula[;k vf/kD; ds dkj.k gSa \ 

 (A) cky fookg    (B) vf’k{kk 

 (D) va/kfo’okl    (D) buesa ls lHkh 

 Which of the following is a reason for over population ? 

 (A) Child marriage   (B) IIIiteracy 

 (C) Superstition    (D) All of these  

63- buesa ls dkSu lh chekjh efD[k;ksa ds }kjk QSyrh gS \ 

 (A) eysfj;k     (B) dqdqj [kk¡lh 

 (D) fVVusl     (D) gStk 

 Which of these diseases spread by flies ? 

 (A) Malaria     (B) Whooping cough 

 (C) Tetanus    (D) Cholera 

64- nkysa le`) lzksr gs & 

 (A) foVkfeu dk    (B) dkcksZgkbMªsV dk 

 (D) izksVhu dk    (D) olk dk 

 Pulses are rich source of  

 (A) Vitamin     (B) Carbohydrate 

 (C) Protein     (D) Fat 

65- Hkkstu idkus dh fdl fof/k essa ty dh vko’;drk gksrh gS \ 
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 (A) Hkki }kjk idkuk    (B) ryuk 

 (D) Hkwuuk     (D) csfdax 

 Which method of cooking requires water ? 

 (A) Steaming     (B) Frying 

 (C) Roasting    (D) Baking 

66- buesa ls dkSu ifjlapj.k iz.kkyh dk Hkkx ugha gS \ 

 (A) ân;     (B) jDr okfgdk,¡- 

 (D) jDr     (D) xqnkZ 

 Which of the following is not a part of the circulatory system ? 

 (A) Heart     (B) Blood vessels 

 (C) Blood     (D) Kidney 

67- 'kq) ty gS & 

 (A) Loknghu     (B) xa/kghu 

 (D) jaxghu     (D) buesa ls lHkh 

 Pure water is - 

 (A) Tasteless    (B) Odourless 

 (C) Colourless    (D) All the above 

68- jDrkyirk fdldh deh ds dkj.k gksrk gS \  

 (A) iksVSf’k;e     (B) vk;ksMhu 

 (D) vk;ju     (D) dSfY’k;e 

 Anaemia is caused due to deficiency of ……… 
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 (A) Potassium    (B) Iodine 

 (C) Iron     (D) Calcium 

69- ?kjsyw QuhZpj gksuk pkfg, & 

 (A) fVdkÅ     (B) vkjkenk;d  

 (D) cgqfØ;k’khy    (D) mi;qZDr lHkh 

 Household furniture should be - 

 (A) Durable     (B) Comfortable 

 (C) Multifunctional   (D) All of the above 

70- Lruiku fdlds fy, Qk;nsean gS & 

 (A) ek¡      (B) cPpk 

 (D) nksuksa (A) ,oa (B)   (D) nksuksa esa ls dksbZ ugha 

 Breast feeding is advantageous for - 

 (A) Mother     (B) Baby 

 (C) Both (A) & (B)   (D) None of the above 

71- ÅtkZ mRiUu djus okyk iks"kd rÙo gS & 

 (A) dkcksZgkbMªsV    (B) ty 

 (D) [kfut yo.k    (D) foVkfeu 

 ………. Is the energy producing nutrient 

 (A) Carbohydrate    (B) Water 

 (C) Mineral Salts    (D) Vitamin 

72- yky&ihyh lfCt;ksa esa dkSu lk foVkfeu ik;k tkrk gS \ 
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 (A) foVkfeu&Mh    (B) foVkfeu&, 

 (D) foVkfeu&ds    (D) foVkfeu&bZ 

 Which vitamin is found in red-yellow vegetables? 

 (A) Vitamin-D    (B) Vitamin-A 

 (C) Vitamin-K    (D) Vitamin-E 

73- fuEu esa ls dkSu uotkr dh rkRdkfyd ns[k js[k ugha gS \ 

 (A) fpfdfRl; tk¡p    (B) Lruiku 

 (D) uky dkVuk    (D) uotkr dks rkSyuk 

 Which of the following is not an immediate case of new born ? 

 (A) Medical examination  (B) Breast feeding 

 (C) Cord Cutting    (D) Weighing the new born 

74- ;fn vkgkj esa vk;ksMkbZTM ued dk lsou u fd;k tk, rks dkSu lk jksx gks ldrk 

gS \ 

 (A) LdohZ     (B) ,uhfe;k 

 (D) ?ksa?kk     (D) fjdsV~l 

 Which disease can occur if iodized salt is not consumed in the diet ? 

 (A) Scurvy     (B) Anemia 

 (C) Goiter     (D) Rickets 

75- foVkfeu ,] Mh] b vkSj ds ?kqyu’khy gS & 

 (A) ikuh esaa     (B) vEy esa 

 (D) olk esa     (D) {kkj esa 
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 Vitamin A, D, E and K are soluble in - 

 (A) Water     (B) Acid 

 (C) Fat     (D) Base 

76- fuEu esa ls dkSu ekuoh; lalk/ku ugha gS \ 

 (A) ÅtkZ     (B) dkS’ky 

 (D) Kku     (D) iSlk 

 Which of the following is not a human resource ? 

 (A) Energy     (B) Skill 

 (C) Knowledge    (D) Money 

77- fdl Hkkstu esa lcls vf/kd Qkbcj gksrk gS \ 

 (A) lkcqr vukt    (B) xktj 

 (D) I;kt     (D) buesa ls lHkh 

 Which food item has the most fiber ? 

 (A) Whole grains    (B) Carrot 

 (C) Onion     (D) All of these 

78- ikfjokfjd ctV cukus esa eq[; ck/kk gS & 

 (A) vKkurk     (B) mnklhurk 

 (D) vf’k{kk     (D) buesa ls lHkh 

 The main obstacle in making a family budget is - 

 (A) Ignorance    (B) Indifference 

 (C) Illiteracy    (D) All of above 
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79- buesa dkSu lcls gkfudkjd iznw"k.k gS \ 

 (A) ok;q     (B) ty 

 (D) /ofu     (D) Hkwfe 

 Which of the following is the most harmful pollution ? 

 (A) Air     (B) Water 

 (C) Sound     (D) Soil 

80- 'k;ud{k dh nhokj gksuh pkfg, & 

 (A) xgjs jax dh    (B) gYds jax dh 

 (D) fefJr jax  dh    (D) buesa ls lHkh 

 The wall of the bedroom should be of - 

 (A) Dark Colour    (B) Light Colour 

 (C) Mixed Colour    (D) All of these 

81- fuEu esa ls dkSu Hkkstu laj{k.k esa enn djrk gS \ 

 (A) ued     (B) phuh 

 (D) fljdk     (D) buesa ls lHkh 

 Which of the following helps in food preservation ? 

 (A) Salt     (B) Sugar 

 (C) Vinegar     (D) All of these 

82- euq"; dh jksx dh fLFkfr esa D;k detksj gks tkrk gS \ 

 (A) Lej.k 'kfDr    (B) utj 

 (D) ikpu 'kfDr    (D) Jo.k 'kfDr 



27 
 

 What becomes weak, if a person suffering from a disease ? 

 (A) Memory power   (B) Sight (vision) 

 (C) Digestive system   (D) Hearing power 

83- dkSu lk iks"kd rÙo gfM~M;ksa dks etcwr cukrk gS \ 

 (A) izksVhu     (B) lksfM;e 

 (D) dSfYl;e     (D) olk 

 Which nutrient makes bones strong ? 

 (A) Protein     (B) Sodium 

 (C) Calcium    (D) Fat 

84- buesa ls dkSu jlksbZ?kj m|ku ds ykHk gSa \ 

 (A) jpukRed 'kkSd dh iwfrZ   

(B) LoLF; vkSj Lokfn"V lfCt;k¡ njokts ij 

 (D) izdf̀r ls tqM+s jgus dk vglkl 

 (D) buesa ls lHkh 

 Which of the following is a benefit of a kitchen garden ? 

 (A) Fulfillment of creative hobby 

 (B) Health and tasty vegetable at doorstep 

 (C) Feeling connected to nature 

 (D) All of these 

85- dkSu lk nw/k mRikn lcls LokLF;izn gS & 

 (A) vkblØhe    (B) iuhj 
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 (D) ngh     (D) feBkbZ 

 Which milk product is healthiest ? 

 (A) Ice-cream    (B) Paneer 

 (C) Curd     (D) Sweets 

86- buesa ls dkSu LokLF; dk lkekU; fu;e gS \ 

 (A) 'kq) ok;q     (B) lw;Z dh jks’kuh 

 (D) 'kq) ,oa LoPN is; ty  (D) buesa ls lHkh 

 Which of the following is a general law of health ? 

 (A) Pure air     (B) Sunlight 

 (C) Pure and clean drinking water (D) All of these 

87- ty nwf"kr dSls gksrk gS \ 

 (A) ty lzksr dh xanxh ls   (B) gkFk dh xanxh ls 

 (D) ik= dh xanxh ls   (D) buesa ls lHkh 

 How does water get contaminated ? 

 (A) Dirt of the water source  (B) Dirt of the hands 

 (C) Filth of the vessel   (D) All of these 

88- fuEu esa ls fdlesa Qyksa ds VwdM+s dks lkcqr voLFkk esa j[krs gSa \ 

 (A) tSe     (B) tSyh 

 (D) eqjCck     (D) LDok’k 

In which of the following the pieces of fruit are kept in whole 

condition? 
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 (A) Jam     (B) Jelly 

 (C) Marmalade    (D) Squash 

89- lqjf{kr Hkfo"; ds fy, buesa ls D;k vko’;d gS \ 

 (A) [kpZ     (B) vk; 

 (D) ctV     (D) cpr 

 Which of the following is essential for a secure future ? 

 (A) Expenditure    (B) Income 

 (C) Budget     (D) Saving 

90- fuEu esa ls dkSu izkf.kt izksVhu gS \ 

 (A) ewaxQyh     (B) nw/k 

 (D) nky     (D) lks;kchu 

 Which of the following is an Animal protein ? 

 (A) Peanuts    (B) Milk 

 (C) Pulse     (D) Soyabean 

91- lykn fdldk vPNk lzksr gS \ 

 (A) foVkfeu     (B) [kfut yo.k 

 (D) Qkbcj     (D) buesa ls lHkh 

 Salad is good source of - 

 (A) Vitamin     (B) Mineral salt 

 (C) Fiber     (D) All of these 

93- ok;q esa fdl xSl dk izfr’kr lokZf/kd gS \ 
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 (A) ukbVªkstu     (B) vkWDlhtu 

 (D) vkxZu     (D) dkcZu MkbvkWDlkbM 

 Which gas has the highest percentage in the air ? 

 (A) Nitrogen    (B) Oxygen 

 (C) Argon     (D) Carbon dioxide 

93- ,d etcwr ?kj fuHkZj djrk gS & 

 (A) tehu dh fLFkfr ij   (B) uhao ij 

 (D) mi;ksx dh xbZ lkekxzh ij  (D) buesa ls lHkh 

 A strong house depends on - 

 (A) Condition of the land  (B) Foundation of the land 

 (C) Materials used   (D) All of these 

94- tSe rFkk tSyh cukus esa vkgkj laj{k.k dh fdl fof/k dk iz;ksx gksrk gS \ 

 (A) rki     (B) iz’khru 

 (D) futZyhdj.k    (D) jklk;fud inkFkZ 

 Which method of food preservation is used in making Jam and Jelly ? 

 (A) Heating     (B) Refrigeration 

 (C) Dehydration    (D) Chemical Substance 

95- fuEu esa ls dkSu xg̀ O;oLFkk esa ck/kk gS \ 

 (A) mÙke fu;kstu    (B) leqfpr Kku dk vHkko 

 (D) midj.kksa dk vf/kd iz;ksx  (D) edku dk vf/kd cM+k gksuk 

 Which of the following is a hindrance in housekeeping ? 
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 (A) Good planning   (B) Lack of proper knowledge 

 (C) Excessive use of equipment (D) Bigger house 

96- dkSu lk nw/k is; xSj fdf.or gS \ 

 (A) feYd 'ksd    (B) yLlh 

 (D) NkN     (D) buesa ls lHkh 

 Which milk beverage is non fermented ? 

 (A) Milkshake    (B) Lassi 

 (C) Butter milk    (D) All of these 

97- nw/k dks xeZ djus ij u"V gks tkrs gSa & 

 (A) iks"kd rÙo    (B) dhVk.kq 

 (D) Lokn     (D) buesa ls lHkh 

 ………. is/are destroyed when milk is heated . 

 (A) Nutrients    (B) Germs 

 (C) Taste     (D) All of these 

98- Hkkstu idkus dh fof/k dk pquko djrs le; dkSu lk dkjd fopkj.kh; gS \ 

 (A) miyC/k le;    (B) bZa/ku dk izdkj 

 (D) midj.k     (D) buesa ls lHkh 

What are the factors to be considered while choosing a cooking 

method ? 

 (A) Available time   (B) Fuel type 

 (C) Utensil     (D) All of these 
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99- fuEu esa ls dkSu [kk| laj{k.k dk rjhdk gS \ 

 (A) iz’khru     (B) lq[kkuk 

 (D) fgehdj.k     (D) buesa lHkh 

 Which of the following is a method of food preservation ? 

 (A) Refrigeration    (B) Desiccation 

 (C) Freezing    (D) All of these 

100- jlksbZ?kj dk dpjk gS & 

 (A) ck;ksfMxzssMscy    (B) xSj&ck;ksfMxzsMscy 

 (D) nksuksa (A) ,oa (B)   (D) nksuksa esa ls dksbZ ugha 

 Kitchen waste is . 

 (A) Biodegradable   (B) Non biodegredable 

 (C) Both (A) & (B)   (D) None of them 

Section-B

Short answer type questions 

Non-objective type questions

iz’u la[;k 1 ls 30 y?kq mÙkjh; gSaA buesa ls fdUgha 15 iz’uksa ds mÙkj nsaA izR;sd iz’u ds 

fy, 2 vad fu/kkZfjr gSaA vius iz’uksa dk mŸkj yxHkx 40 'kCnksa esa nsaA  

 ¼15x2=30½ 

Question No.1 to 30 are short answer type Questions. Answer any 15 

questions. Each question carries 2 marks. Write your Answer approximately 

40 words.          ¼15x2=30½ 
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1- [kfut yo.k D;k gS \        2 

 What are minerals ? 

2- uotkr ds dqN lkekU; chekfj;ksa ds uke fy[ksaA     2 

 Give the names of some common ailments of new born babies ? 

3- laØe.k D;k gS \         2 

 What is infection ? 

4- yky jDr df.kdkvksa ds thoudky fdruk gksrk gS \    2 

 What is the lifespan of red blood corpuscles (RBC). 

5- QsQM+s ds rhu dk;Z fy[ksaA        2 

 Write any three functions of lungs. 

6- ekuo 'kjhj esa ty ds D;k dk;Z gSa \      2 

 What are the functions of water in human body ? 

7- le; ,oa Je cpkus okys midj.kksa ds uke fy[ksaA    2 

 Write the names of Time and Labour saving devices ? 

8- Hkwfe iznw"k.k ls gksus okyh gkfu;ksa dk o.kZu djsaA     2 

 Describe the disadvantages of Land pollution. 

9- fdpu xkMsZu esa [kkn dk iz;ksx vki dSls djsaxh \    2 

 How do you use fertilizer in the Kitchen garden ? 

10- vkgj laj{k.k dh ik¡p fof/k;ksa dk o.kZu djsaA     2 

 Describe any five methods of food preservation. 
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11- foVkfeu&, dh deh ls dkSu lh chekjh gksrh gS \    2 

 What are the disease caused by the deficiency of Vitamin-A ? 

12- cPps dks fdl vk;q esa Bksl vkgkj fn;k tkrk gS \    2 

 At whatage is the child given solid food ? 

13- olk izkfIr ds nks lzksrksa dk uke fy[ksaA       2 

 Write the names of the two sources of fat. 

14- izkFkfed fpfdRlk dk mís’; D;k gS \      2 

 What are the objectives of First Aid ? 

15- ty }kjk Hkkstu idkus dh fdUgha rhu fof/k;ksa dk o.kZu djsaA   2 

 Describe any three methods of cooking food by water ? 

16- [ksy cPpksa esa fdl izdkj lgk;d gksrk gS \     2 

 How is play helpful to children ? 

17- pk¡nh dss crZuksa dh lQkbZ dSls dh tkrh gS \     2 

 How is silverware cleaned ? 

18- ikpura= ds vaxksa dk uke fy[ksaA       2 

 Name the parts of the digestive system. 

19- cPpksa dks fu;fer O;k;ke ls D;k Qk;nsa gS \     2 

 What are the benefits of regular exercise for children. 

20- i;kZoj.k iznw"k.k ds eq[; rhu izdkj dkSu&dkSu ls gSa \    2 

 What are the three main types of environmental pollution ? 

21-  fuEu vk; oxZ ds ?kjksa esa x`g midj.k dSls gksrs gSa \    2 
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 What types of home appliances are found in low income house holds? 

22- Hkkstu dks lqjf{kr j[kuk D;ksa vko’;d gS \     2 

 Why is it important to keep food safe ? 

23- Lo:ph Hkkst ¼Buffet½ fdls dgrs gSa \      2 

 What is buffet system ? 

24- jksxh dkss nsus ds fy, lqikP; fdUgha rhu iF;ksa ds uke fy[ksaA   2 

 Write the names of three Sick diet to give a patient. 

25- foVkfeu Mh dh deh ls gksus okyh chekjh dks fy[ksaA    2 

 Write the disease caused due to deficiency of Vitamin-D. 

26- jlksbZ ?kj esa diM+ksa ds fofo/k mi;ksx D;k gS \     2 

 What are the various uses  of clothes in the kitchen. 

27- Hkkstu dk dejk dSlk gksuk pkfg, \      2 

 What should a dining room like ? 

28- cpr djuk D;ksa vko’;d gS \       2 

 Why is saving necessary ? 

29- jlksbZ?kj ds cxhps esa D;k yxkuk pkfg, \     2 

 What should be planted in the kitchen garden ? 

30- gekjs 'kjhj esa izksVhu dk D;k egÙo gS \      2 

 What is the importance of protein in our body ? 
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Long Answer Type Question 

iz'u la[;k31 ls 38 rd nh?kZ mÙkjh; iz’u gSaA bl dksfV ds izR;sd iz’u ds fy, ik¡p vad 

fu/kkZfjr gSaA fdUgha 4 iz’uksa ds mÙkj nsaA vius iz’uksa ds mÙkj yxHkx 100 'kCnksa esa nsaaA 

           ¼4x5=20½ 

Question Nos 31 to 38 are long Answer Type. Each question carries 5 

marks. Answer any 4 questions. Write your answers in approximately 100 

words.          ¼4x5=20½ 

31- ckxokuh dh rS;kjh djrs le; fdu ckrksa dks /;ku esa j[kuk pkfg, \ 5 

 What are the things to be kept in mind while preparing for 

gardening?  

32- ty dks 'kq)  djus dk fdUgha ik¡p ?kjsyw fof/k;ksa dk o.kZu djsaA  5  

Describe any five home methods to purify water.     

33- x`g vyadj.k dSls gksus pkfg, \       5 

 How should home decoration be done ? 

34-  vki vius vkl&ikl lQkbZ dSls cuk, j[ksaxs \    5 

 How will you maintain cleanliness in your surroundings ? 

35- cPpksa ds [ksy lkekxzh dk p;u djr le; fdu dkjdksa ij /;ku nsuk pfkg, \5 

 What factors are considered when choosing play equipment for 

children ? 

36- uotkr f’k’kq dk vkgkj D;k gS \ o.kZu djsaA     5 
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 What is the diet of a new born ? Explain. 

37- foVkfeu dk gekjs 'kjhj esa D;k dk;Z gS \ o.kZu djsaA    5 

 What are the functions of vitamins in our body ? 

38- cpr ds fofHkUu ykHk D;k gSa \ o.kZu djsaA     5 

 Describe the various benefits of savings ? Explain. 


